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2 69,496
& 69,496
03 A& 2 0HH] 1,008 2,016 A 1,008
OnNsSAMD &2 LA 1,008
=z 504
[ 504
WEOHMAIAE HH| 200,000 150,000 50,000
401 Al HIL 201 200,000 150,000 50,000
01 Al& H| 198,560 148,920 49,640
OXYE WECHHAIE HUIALY 198,560
03 A& 2 0HHI 1,440 1,080 360
OXNYT NECHHMAIE AHIAMY 1,440
TAE B4 600,000 250,000 350,000
401 Al HI L £ 0HHI 600,000 250,000 350,000
01 A& HI 596,220 248,200 348,020
OXYE ZT&E B4AY 596,220
03 A& 20H Y| 3,780 1,800 1,980
OXYE ZA BLAIY 3,780
NeE =2 HUIALY 325,000 150,000 175,000
401 Al HI L 2 0HHI 325,000 150,000 175,000
01 A& HI 322,660 148,920 173,740
OXNgE =2 UMY 322,660
03 A& 20 Y| 2,340 1,080 1,260
OXNEg T =2 &HHIAMY 2,340
nESAIDHEY & 2328 1,000,000 900, 000 100,000
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01 Al& H| 992,440 893, 160 99,280
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OusSHNMEX T AX| 99,100
O R &M 248,200
OfIEXNY HMAIL S HH| 248,200
o22= S 198,560
O UXZ )2 LA 2EIAY 49,460
03 Al 201 Y| 7,560 6,840 720
OEzEX&E AX 1,080
OQusSot8MEX Z AX| 900
O X &M 1,800
ORKE XA HMAIE =S HH| 1,800
O2s&Eg KANEx 1,440
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ogdega 826
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OUNH= M= U B8 S
150,000& *6H 900
OBHS = SHoz AAY)
5,000& *6Y 503/ 1,500
Og&EIIQ 88 #=2l(14U1) 1,500
OMait==8 S HH(=2242) 10,000
02 35244l 205,236 207,780 N2,544
OFMIIZ(HY 2 XSIAET S 14MA)
12,000,000& x12& 144,000
Ox=dXRY Male=2, CCTV, S2XNES 16,500
OFIIHEEAL2(HYE L XGHAE)
2,000,000& x12& 24,000
OWEHHEH R 2L 2,500,000& 2% 5,000
OulF2Il =2l 100, 000& *53CH 5,300
OuWHI KFU 1,969& +530H 1004 10,436
202 04| 12,000 12,000 0
01 2LH O HI 12,000 12,000 0
OMU & E28458Y 12,000
204 X2 = A H| 23,400 24,000 A 600
03 SEYREHI 23,400 24,000 A 600
Oorg syl 50,0003 30 x12& 23,400
206 M= Hl 600,000 406,800 193,200
01 X2t 600,000 406,800 193,200
OzzE4+g M (HEsdsz252 65) 270,000
OXZEL2 HR(OIAEE SH 4E) 100,000
Oz THE2(HUEQ 3F) 120,000
ONECHHAIE MB(BAIAL 4E) 90,000
OEZANEZE S (MWEEY, IIEHLS 48) 20,000
301 dEtE A= 9,010 6,140 2,870
09 HAIAH EA=S 1,110 740 370
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Ne e SXNEE=AS 400,000 500,000 A 100,000
401 AlEHIZL 2 0HY| 400,000 500,000 A 100,000
01 Al&H| 397,120 496,400 A 99,280
OXeE SANES=AY 397,120
03 Al 20| 2,880 3,600 AT20
OXYgE SFXNE=AY 2,880
AP AlAE 22 136,500 40,000 96,500
401 A& HI L 2 0HHI 42,000 40,000 2,000
01 Al&H| 42,000 40,000 2,000
OFAN = HFZ FH| 42,000
405 XHAHF S HI 94,500 0 94,500
01 XA 2 ZF S| 94,500 0 94,500
OMEE &5 HI3 Wi 86,000
O21&8 =& WH 8,500
AL EH |2l 474,650 568,850 N 94,200
e 2 AH| S22l 354,650 338,850 15,800
201 et 9| 354,650 338,850 15,800
01 AR 22l ] 49,150 50, 150 A 1,000
Onsrz EIE 1,500
On £y 1,650
-XAEY HH=E S 150,000& 11 1,650
OXege SXl2e 2I2tAY dx= 45,000
OMXE HaXelAld |Xd] 1,000
02 2224 H| 305,500 288,700 16,800
OZ2Z222 N Al 33,100
—gse 18,700
INEE=DA; 600,000& = 16CH 9,600
A& D] H 700,000 =13CH 9,100
-ANSX SHINEREE =2
100,000& 16 CH *23] 3,200
— Xk = XFAI 250,000 x16CH =23 8,000
—XH|HAF 222 3,200
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- A3 2 3,700,000& =1CH 3,700
-S832 3,900, 000& *x5CH 19,500
— &= Xt 7,300, 000& = 1CH 7,300
-EdEdH 7,300, 000& = 1CH 7,300
-EdgH 7,300, 000& = 1CH 7,300
- =8t 14,600,000 * 1CH 14,600
- HAHAI 10,200, 000& *1CH 10,200
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AEI|HES 120,000 230,000 A 110,000
405 X+H&HF SHI 120,000 230,000 A 110,000
01 A&t = S F SHI 120,000 230,000 A 110,000
O=832 50,000,000& =1 CH 50,000
OEYSUHAMTZTEI(15E) 70,000,000& *1X 70,000
ALBA BE L AAMAE 46,950 46,130 820
ESAE IR 2el 46,950 46,130 820
201 LEt2 Y| 15,100 14,280 820
01 Al 22! H| 15,100 14,280 820
OAEHIIE HMelbl 1,500,000& 13 1,500
OAEEX L OFLHZH X 2IM  1,000& *1,5005 1,500
OANEQEA &A= 100, 000& x8YH *23| 1,600
OANEQE & 62,5003 *x8H x 13| 500
OStsAIEI2 230 REZ A 70,000& =244 1,680
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- 52 3,976,100 x3Y x12& 143,140
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-FR+E 42,3003 *1H 104 4,400
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—FdI2RE 23,9003 x37H « 12 10,612
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-IE=4 40,000 *33H « 12 15,840
— JtAI X3 bl 645,539,000 / 12 »80% 43,036
- wEHl 110,000 x37H «12& 48,840
- = gl 110,000 37 x12& 48,840
-fEg2e*sd 30,0003 «37H «12& 13,320
- x4 40,000 x12H « 123 5,760
- A2 110,000 «37H «12& 48,840
— Il =l 150,000& »37H 5,550
= 300,000& =23l 600
OBHE=RE= 133,913
-DUH=RE=s 1,387,216,000& *4.5% 62,425
- NE2ERES 1,387,216,000& *1.5% 20,809
- MHEESE 50,679
=2 24,051,000& *1.0% 241
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OEEY S 2,000
OFAMAEINRB 16,000
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